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Rechnungen im Zahlenraum 20

12+4=__ le+3=__ 12+2=__
T4+5=__ TF+1=__ 1n+8=__
M+3=__ 19+0=__ 12+8=__
1B+7#=__ 19+2=__

l4+6=__ - lb+2=

Rechnungen im Zahlenraum 20

18+2=__  10+9=__  12+4=__
7+3=__ 1M+3=__  lo+4=__
19+1=__  14+3=_  1#+2=__

M+5= - 12+6=

13+4=__ M+9=__
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8+3=__ 9+b=__
9+2=__ 3+8=__
Fro=__ 8+8=__

Fri=_

9+9=__
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5+9=_ 8+4=_
9+3=__ b+b=__
b+F= Fr9=_

9+6=__

2+9=__
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4+3=_ 5+6=__
Fr2=_ Fr8=_
9+b=__ 9+8=__

b+F=__

149=_

Rechnungen im Zahlenraum 30

18+6= 5+19=_ 18+4=_
F+15=_ 9+13=__ 6+16=__
19+%F=_ 14+7#=_ TH+9=_

8+15= 19+6=

13+8=__ 12+9=__




Rechnungen im Zahlenraum 30

Frl4=_ 4+13=_  15+6=
9+15=__  1F+2=__  F+18=__
6+3=__  9+16=__  9+18=__
12+7=__ - lb+F=_

MnN+9=_

Rechnungen im Zahlenraum 30

18+2=_ H5+4= 6+24=__
b4+15=_ 29+0=__ 26+3=__
21++F=_ 24+5=_ 21+9=_

8+1=__ - 0+6=__

13+8=__ | 2+8=__




Rechnungen im Zahlenraum 20

17-4=__ 14-3=_ 15-5=__
19.5=_ 17- 17-4=__
16-3= 19. 19.8=_
12-2=__ 18- 16-0=__

Mn-1=__

Rechnungen im Zahlenraum 20

18-2=__ 19-4=_ l6-8=__
14-5=__ 19-1=_ 19-F=__
M-7=__ 14-5=_ Mn-9=__

18-1=_ -9=_ 20-6=__

13.8= 12-8=
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14-13=_ 15-
17-12=_

19-10=___
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15-8=
19-3=

14.F=_
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14-13=__
17-12=__

19-10=___

15-
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13- =12
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14 - =11
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14

13-

19 -
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=18 24 - =19 23 -

=13 23 - =12 27 -

=17 29 - =19 29 -

=19 - 26 -

14 : 21




